
MAT330/681 Lecture 5 2/17/2021

Conditional Probability
-
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EI . 2 (fair) wins are flipped .

what is the prob . of both

landing on treads , given
that :

a) first coin clouds on
heads ?

b) at least one coin lands on heads ?
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Exe : If 1,82¥ of Lehman students play tennis
and baseball

,

and -i- tennis
,
what is the

prob .

that a student plays baseball
, given

that

this student plays tennis ?

T = Student plays tennis

B = Student plays baseball
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Multiplication rule
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EI : A standard deck with 52 cards is randomly divided

into 4 piles (with 13 cards each) . What is the

prob .

that each pile contains exactly 1 ace ?

Ee = ( A of spades going on some pile)

Ea = LA of hearts and A- of spades go in
different piles }

E3 = LA of clubs , A hearts , and A spades go
in different piles )

E4= ( Ale A 's go
in different piles) .
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EI : You lost
your keys and are 801 sure they are in one

of 2 pockets in your
coat
, being 404 sure they are on

the Left pocket, end 404. sure they are on the Right pocket.

If you look
in the left pocket and they are nod

,

there
,
whet is the prob . you find them in the Right .

( = Keys are in left pocket

R = Keys are in right pocket .
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